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Note: Answer any FIVE full questions, c,ti,ooitfitg ONE full question from' each module.

a. Explain oSI network architecture *ith a neat diagram. (10 Marks)
b. Describe the network requirtrrents of applicition programmer, network operator and

network designer with an exhihple. (06 Marks)
c. Briefly explain applications of computer networks. (04 Marks)

OR:
2 a. Explain following ideas with respect to ,it*ort architecture :

layering, protocol, encapsulation, multiplu*mg and demultiplexing. (10 Marks)
b. Consider a point-to-point link 4 km in length. At what bandwidthwould propagration delay

(at a speq.,{. '2x 108 m/s) equal transmit de{ay for 100-byte packets? (04 Marks)
c. Explainq.{gciiit switched and nacket lyitched networks with a neat diagram. (06 Marks)

Module-2
3 a. Apply NM, NRZIT Manchestsr encoding to the foUdfuihg bit stream :,.1r"*-

00101I I 101000010 (o6Marks)b' Briefly explain Byte orienied protocols. ioi *r.ioc. Discuss briefly about wifi:and Bluetooth. ,,, (08 Marks)

_,rt11tlrr,l:,::,, rit:, OR"
4 a. Explain the compFt of stop and wait protocol with necessaiy'hiagrams for different scenario.

ir* : rri:. (10 Marks)b. A bit str am 10011101 is tr,ansmiti'ed using the,, dard CRC method. The generator
polynomial is x3 + l.
(i) l,,,Whbt is the actualbit string fiansmitted? ,,,r

(ii),, Suppose the thirdffi,,fiom the left is inrrerted during transmission. How will receiver

:i:::::::i.l]l]]l

,, 
, M6dule-3

5 a. Define virtu.,p.l cirifiit identifier?,,.8*ptrir, ,r.t"al circuit network and VC
switches wjtli"*neat diagram. r**,lrrl ,,

b. Define spahning tree algorithm and explain how it works.- 
,,,1. 

,l:

_,,i,iitrlrr:!:,::, OR
6 a. Explain IPVa packet headqiS format with a neat diagram.

b. Briefly discuss about,..

(10 Marks)

table entry for
(10 Marks)
(10 Marks)

(10 Marks)

(r) ARP '''. 
_(il) ICMF.'., 

' 
'

(iii) DrICp
(iv) ., Border Gateway Protocol

i 
. ,,::: "' : I of2

(10 Marks)
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--."4s. .d,-,rqi"' Module-4 "**tEb;
7 a. Explain three-way hand shaker utgiirlf,rn-m connaqfi*ffiistablishment and termination

respectively for TCP with diagram. ,l*'q6} 
"* (10 Marks)

b. f,xplain UDP header format. ,"'; i' (06 Marks)

c. What are the key characteriStics of UDP? 
'ilryt. 

* (04 Marks)
_*o^_ **.n

OR 
'%'-48 a. Explain consestion avoidance mechanism$'in.$rief. (10 Marks)

b. Briefly exptiin the mechanisms used f"rY-Cfl congestion control. '''l, (10 Marks)

#fus.rg
ls.1

,,J fr8oot.-s .,"*;. 
''

g a. Write a brief note on Domain U*ih-t&.lsi*tem (DNS). -, 
u" 

- 
* 

(10 Marks)a. wrltg a orlel nole on lJorrlaul |}ti*lr$&systEur'\r,r\Drr. d" 
"b. Explain the following cryptoq,mfic building blocks I 'r'

(1) Symmetric-key Apffit ", s

iO rubtic-tey cffi " ,,. i
(iii) AuthenticasqrS*u
(rv) Ciphers .- W' ry ' (10 Marks)

- #h- '{r ,'ji'.ds. * ,.En
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&t*" 

--"o&u-'" o"@"
l0 a. What are mgrygrffi Explain strenglhs a atnesses of firewalls. (10 Marks)

b. Explain
(i)(i)d,%,#MrP .5"ffiT::r dffi ffi(iii)* SNMP kry:$ 
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